
PSP1310 – Rev 1  5/2024 

LOD 

Installation 

Instructions 

 

POLARIS RANGER 
2013+ 

 

SKID PLATE 

DESTROYER SERIES 

 
 

 

 



 

1 

Installation 

Skid Plate 

 

ITEM QTY PART NUMBER DESCRIPTION ITEM QTY PART NUMBER DESCRIPTION 
1 1 2PSP1300-15 Skid Plate 3 6 FW3114ZP Flat Washer 5/16” x .875, ZP 
2 4 BHSCS381616ZP Button Head Cap Screw 3/8-16 x 1.00” 4 2 HN3816ZPGR5 Hex Nut 3/8-16, ZP 

1. Locate the Skid Plate, 3/8” fasteners, and 5/16” 
washers. 

2. Orientate the Skid Plate as shown above and with 
the fasteners loosely attach to the Front Bumper. 

3. With the remaining fasteners finish securing the Skid 
Plate to the lower OEM Polaris mount.  

4. Now that the Skid Plate has been loosely assembled 
begin to tighten down the 3/8” bolts.  

 

  



 

2 

 



PSP1310 - Rev 1 5/24 Page 1

SKID PLATE
2PSP1300-15

(x1)

Polaris Ranger
DESTROYER SERIES

SKID PLATE
SHIPPING SHEET - BOX 1

Packaged by:
________________________

On:
________________________

INSTRUCTION
SHEET BOLT KIT

PSP1310-BK
(x1)



PSP1310 - Rev 1 5/24 Page 2

Polaris Ranger
DESTROYER SERIES

SKID PLATE
BOLT KIT

Packaged by:
________________________

On:
________________________

BUTTON HEAD SCREW 
3/8-16 X 1.00”

(94092)
(x4)

Standard Flat W
asher Sizes

#10

1/4"

5/16"

3/8"

7/16"

1/2"

9/16"

5/8"

3/4"

7/8"

1"

1-1/8"

1-1/4"

1-3/8"
FLAT WASHER 
Ø5/16” X .875”

(0159678)
(x6)

B
utton B

olt Sizes

#2-56 x 1”

#4-40 x 1”

#6-32 x 1”

#8-32 x 1”

#10-24 x 1”

#10-32 x 1”

#12-24 x 1”

1/4"-20 x 1”

1/4"-28 x 1”

1/4"-28 x .5”

5/16"-18 x 1”

5/16"-24 x 1”

3/8"-24 x 1”

3/8"-16 x 1”

1/2"-13 x 1”

1/2"-20 x 1”

4m
m

 x 0.7

5m
m

 x 0.8

6m
m

 x 1.0

8m
m

 x 1.25

8m
m

 x 1.0

10m
m

 x 1.5

10m
m

 x 1.25

10m
m

 x 1.0

12m
m

 x 1.75

12m
m

 x 1.5

12m
m

 x 1.25

1/2"-13 x 2”

1/4"-20 x 3/4”

5/16"-18 x .75”

1/4"-20 x 1/2”

3/8"-16 x 1.50”

5/16"-18 x 1.75”

3/8"-16 x 3/4”

B
utton B

olt Sizes

#2-56 x 1”

#4-40 x 1”

#6-32 x 1”

#8-32 x 1”

#10-24 x 1”

#10-32 x 1”

#12-24 x 1”

1/4"-20 x 1”

1/4"-28 x 1”

1/4"-28 x .5”

5/16"-18 x 1”

5/16"-24 x 1”

3/8"-24 x 1”

3/8"-16 x 1”

1/2"-13 x 1”

1/2"-20 x 1”

4m
m

 x 0.7

5m
m

 x 0.8

6m
m

 x 1.0

8m
m

 x 1.25

8m
m

 x 1.0

10m
m

 x 1.5

10m
m

 x 1.25

10m
m

 x 1.0

12m
m

 x 1.75

12m
m

 x 1.5

12m
m

 x 1.25

1/2"-13 x 2”

1/4"-20 x 3/4”

5/16"-18 x .75”

1/4"-20 x 1/2”

3/8"-16 x 1.50”

5/16"-18 x 1.75”

3/8"-16 x 3/4”

B
utton B

olt Sizes

#2-56 x 1”

#4-40 x 1”

#6-32 x 1”

#8-32 x 1”

#10-24 x 1”

#10-32 x 1”

#12-24 x 1”

1/4"-20 x 1”

1/4"-28 x 1”

1/4"-28 x .5”

5/16"-18 x 1”

5/16"-24 x 1”

3/8"-24 x 1”

3/8"-16 x 1”

1/2"-13 x 1”

1/2"-20 x 1”

4m
m

 x 0.7

5m
m

 x 0.8

6m
m

 x 1.0

8m
m

 x 1.25

8m
m

 x 1.0

10m
m

 x 1.5

10m
m

 x 1.25

10m
m

 x 1.0

12m
m

 x 1.75

12m
m

 x 1.5

12m
m

 x 1.25

1/2"-13 x 2”

1/4"-20 x 3/4”

5/16"-18 x .75”

1/4"-20 x 1/2”

3/8"-16 x 1.50”

5/16"-18 x 1.75”

3/8"-16 x 3/4”

B
utton B

olt Sizes

#2-56 x 1”

#4-40 x 1”

#6-32 x 1”

#8-32 x 1”

#10-24 x 1”

#10-32 x 1”

#12-24 x 1”

1/4"-20 x 1”

1/4"-28 x 1”

1/4"-28 x .5”

5/16"-18 x 1”

5/16"-24 x 1”

3/8"-24 x 1”

3/8"-16 x 1”

1/2"-13 x 1”

1/2"-20 x 1”

4m
m

 x 0.7

5m
m

 x 0.8

6m
m

 x 1.0

8m
m

 x 1.25

8m
m

 x 1.0

10m
m

 x 1.5

10m
m

 x 1.25

10m
m

 x 1.0

12m
m

 x 1.75

12m
m

 x 1.5

12m
m

 x 1.25

1/2"-13 x 2”

1/4"-20 x 3/4”

5/16"-18 x .75”

1/4"-20 x 1/2”

3/8"-16 x 1.50”

5/16"-18 x 1.75”

3/8"-16 x 3/4”

Standard Flat W
asher Sizes

#10

1/4"

5/16"

3/8"

7/16"

1/2"

9/16"

5/8"

3/4"

7/8"

1"

1-1/8"

1-1/4"

1-3/8"

Standard Flat W
asher Sizes

#10

1/4"

5/16"

3/8"

7/16"

1/2"

9/16"

5/8"

3/4"

7/8"

1"

1-1/8"

1-1/4"

1-3/8"

Standard Flat W
asher Sizes

#10

1/4"

5/16"

3/8"

7/16"

1/2"

9/16"

5/8"

3/4"

7/8"

1"

1-1/8"

1-1/4"

1-3/8"

Standard Flat W
asher Sizes

#10

1/4"

5/16"

3/8"

7/16"

1/2"

9/16"

5/8"

3/4"

7/8"

1"

1-1/8"

1-1/4"

1-3/8"

Standard Flat W
asher Sizes

#10

1/4"

5/16"

3/8"

7/16"

1/2"

9/16"

5/8"

3/4"

7/8"

1"

1-1/8"

1-1/4"

1-3/8"

HEX NUT 3/8-16
(36306)

(x2)

Hex Nut Sizes

1/2"

5/8" 9/16"

3/4"

7/8”

1”

#10

#8

#6

#5

#4

#3

1/4"

5/16"

7/16"

3/8"

#12

#2

#1

#0

14mm

2mm

2.5mm

3mm

4mm

5mm

6mm

8mm

10mm

12mm

16mm

18mm

20mm

7mm

Hex Nut Sizes

1/2"

5/8" 9/16"

3/4"

7/8”

1”

#10

#8

#6

#5

#4

#3

1/4"

5/16"

7/16"

3/8"

#12

#2

#1

#0

14mm

2mm

2.5mm

3mm

4mm

5mm

6mm

8mm

10mm

12mm

16mm

18mm

20mm

7mm


